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Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.
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Q-1

f)

9)

h)

Attempt the following questions:

If A(-5, 7) and B(7, — 2) then AB =
(A)15 (B)169 (C) +/29 (D) None of these
If A(1, 7) and B(3, 3) are the given points, then the midpoint of AB is

(A) (-2,5) (B) (5.-2) (C)(2,5) (D) (5.2)
y —intercept of line2x —6y +4=0is___ .

(A) -2/13 (B) 213 (C) -2 (D) 2
Radius of the circle x* +y*=25is
(A)5 (B)25 (C)5/2 (D) None of these

x*-1

(A)-1 (B)1 (C)0 (D)3
tan x _

x—0 X

(A)-1 (B)0 (C)1 (D) None of these

x—0 X

(A) log,e (B) log,a (C)e (D)1

d (cosecx)
dx

(A) tanx (B) sec’x (C) —tanx (D) —cosecxcot X

d(x) _

dx

2

W @ ©0 @1

(14)
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Q-3

Q-4

)

K)

=logVx* +1 then f'(0)=

B)1 (C)2 (D)0
)
W ®e ©F

I% dx=__

(A) logx+c (B)e*+c (C)1 (D)0

(A

f(x)
1
2

(D) 5¢**

1
I\/az_xz dx =

(A) cot™ X1 ¢ (B) tan* 21 c (©) cos? X tc (D) sin? X 1c
a a a a

1
j 22dx=
o 1+X

(Mﬂ(&%(@%(MM%MM%

Attempt any four questions from Q-2 to Q-8

Attempt all questions

Find coordinates of the points of trisection of the line segment joining points
A(4,5) and B(13, - 4).

Find the equation of line perpendicular to line 4x —y + 5 = 0 and passing
through (1, — 2).

Prove that if f (x) = Iog( j then prove that f (x) + f (—x) = f (x°).

Attempt all questions

Prove that lim IX+2 \/_ V35

x—3 . fx +4 \/_ 5

X H2XP X+ 2
Evaluate: lim >

x>(2) X 4+ X-2

Show that the points A(1, 2), B(2, 3) and C(0, 5) are the vertices of a
right angled triangle.
Attempt all questions
Find equation of a circle passing through points (1, 0), (0, 1) and (0, 0).
Find derivative of y =3* using definition.

sin(log x) |

In X Ty

Attempt all questions

(14)
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Q-8

b)
c)

Evaluate: |X|_r)rg Z(SX ) * i(Zx ) =9

The equation of motion of a particle is S =2t +3t* —12t +5.
(i) Find velocity at t = 0. (ii) Find acceleration at t = 1.

Find gy if y=x%

Attempt all questlons
X'+ x2+1

Evaluate: '[ —1dx
X° +

If y=e"sinx then prove that d" ay 2dy+2y 0.
dx? dx

Evaluate: J.xlog X dx

Attempt all questions

Find dy if y=Ilo g[ SN X j
dx 1+ cos x

“(1+ x)

Evaluate: J'

2
Evaluate: J' (1_X33X) dx

Attempt all questions

T

2
Prove thatj tan x dx = i

< \/tan x ++/cot x 4

Find the volume of sphere of radius r.

Find the equation of circle having centre (1, 1) and passing through (-2, 4).
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